Sec 2.1 - Solving Algebraic
Equations '

Find the value for the variable that makes the statement true. (SHOW WORK NEATLY)

1. 2y—4+5¥=4—3y+5

7y -4:9-8
+3;/I *33’

Name:

2.3g-6+2g+ 1=11-8g

Sz &

9.3(m-4)+2m=8

_ 3m-18+3n

e

M. Winking

10.-2(h - 3) +5h = 5(2 + h)

g+l +5h= 1045k

nit2 pagel

/I. Eliminate parenthesis by

distributing.

2/’(§‘x\—’4)=5

6x—8=5

11. Eliminate fractions by
multiplying each term by the
lowest common denominator.

[
2 4

\_  dx - 6 =3/

ITI. Combine like terms on each
side of the equation.

Ax+2-Tx=2+x+8
'&1_7 ~_7
v

-3x+2=10+x

. Move the "variable" term to
one side of the equation and
the constants to the other side
using addition or subtraction.

3x+2=6x-35

-3x -3x
2=3x-5
+5 +5
7=3x

. Divide both sides by the
coefficient (the number in
front of the variable).

4x=12




11.2(w-3)-2w=7

,.«\O‘

12.3(2a + 3) - 2a :,ma) -1

’T&f srm-gmﬁm

Au.. REAL.,
NumBERS

®)

,,,,, 3"89; 53< +1

i« e wmz

/I. Eliminate parenthesis by

distributing.

ﬁé&\—ﬁ)xs

6x—-8=35

II. Eliminate fraciions by
multiplying each term by the
lowest commoen denominator.

i 1
x —_
2 4

1 1 lx
L — X —_ —
3 2 4

\¥ 4 — 6 33{//

ITI. Combine like terms on each -
side of the equation.

4x+2-Tx=2+x+8

~_7
—3x+2=10+x

. Move the "variable” term to
one side of the equation and B
the constants to the other side |
using addition or subtraction. ;

3x+2=6x-5

~3x —-3x
2=3x-5
+5 +5
7=3x

. Divide beth sides by the
coefficient {the number in
front of the variable).

4x =12




20. ax+2¥=5b—¢ (solveforb)

S ( \..D + A
a0 +72

22 |
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6. Eliminate parenthesis by

distributing.

2@;‘4):5

6x—-8=5

V11.Ejiminate fractions by
multiplying each term by the
lowest common denominator.

TR

\_ 4 - 6 =3x

VIIL. Combine like terms on
each side of the eguation.

4x+2-Tx=2+x+8

—3x+2=10+x

I¥ Move the "variable" term to
one side of the equation and
the constants to the other side

usin&addiﬁon or subtraction,

3x+2=6x-5

-3x  -3x

2=3x-5

+5 +5
7=3x

. Divide both sides by the
caefficient {the number in
front of the variable).

4x =12
12

4 4

x=3




Fawp LED s LED

3“;\"2’ sgqi‘gftﬁpn
2 @+l _x+ljg8 24,08 L i@
2+l _x+l . 5
T ﬁ’, B tzf T 23. 3 + ; : ‘?.‘ '
R ﬂ\s 2% yii S Guel B By
X{ ) = (0 §rel el ®

s 5426 Ay By = 3x-
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Crairdlipsis
: ; Sec 2.3 - Solving Algebraic

: Inequalities Name:
Find the values for the variable that makes the statement true. (SHOW WORK NEATLY)
1. 3x>6_ 2. 20 z4m
3 3 o /
52 0N I. Eliminate parenthesis by
distrihutifg.

<H—H—'—H—'—W

3. 3x < 12
3 -3

5; 48

5. 8a-12>2a 6. 2p-6+2p+ 1<11+8p
L TET
oa  TFA

1320

e b ’“ij 5 ‘:“*%E
s i}
1< Q "5 &1 edp
' —
S
- g
"‘“""I_

M. Winking
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Zf(gx\:ﬂ >5

6x-—-8>5

I1. Eliminate fractions by
multiplying each term by the
iowest COMMOK denominntnr.

<12
i

-P-ta.

21
13712

4x - 6 <3x

HI. Combine Tike terms on each
side of the equation.

dx+2-Tx>2+x+8

3x+2>10+x

1V. Move the "variable" term to
one side of the equation and
the constants to the other side
using addition or subtraction.
Ix+2206x-5
:—:3)( -3x
223x-3
+5 +5
72 3x

V. Divide both sides by the
coefficient (the number in
front of the variable).

—4x>12




Find the values for the variable that makes the statement true. (SHOW WORK NEATLY)

9. 2'>32 10, 5°<125
{

2 2 X - oo

2% s gzl 5& -3
95:3_.3.1;,& x 5 = e

A gzl ¥ 5 =5 L7

95 = ad Lk AT BN 5" zge=25 v
20=222222 16("’/ S”Ia 5585 185 v

BE S 565.5%=015X
oot A
o K3

Write an inequality statement for each graph using x.

) Y W TR S T VPN TR T N O SN S |
11, Mo T T T
1

~10 -5 0

Dimps——- 12.

i
4
23145 18 -10 Sy g 8 &

Solve the following inequalitics for the requested variable.

13. ;?/—2;226—42)5 (solved for y) 14. 3®)+5b<8bw12 {solved for a)
~x L
Ay % -3 +5b 4 Bo-1>
-2 s T

£ -2y : < Bb-13

y = T3rdx 2 igzb S
P_f’)g\ £ (Gb - 1g

3 3

[0 < 241
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Systems by Graphing

Sec 2.4 - Solving 2 Variable

Name:

Pl gtz P T
SYrECL/20K-4
B-2X+1

M= :
~¥u= 2175t andard

Each system of equation is shown in graph. Using the graph find the solutions to each of the systems.
3 3. y=2"-2

Ly=gx+3 2. y=xt -

ysz—Z

y=:ix-1

L

/1 2 3 4 5 5 4 -3 -2 o
-2} ﬁ : : A3
4 e : :

(G )| =) | B

“l) o, (9; %) }

Which of the system of equations below have a

x Y
solution of (- 3,2) ?

y=2x+8 . y=:x+4
. . 6.
3x+2y=-5 {x=%y—2 {
s (- =]
WIECVET [yl

33 :_:1(2):::55/ 9= -2+

¢32 ) |

Grapil‘éamc'ilk ;ém and use the graph to deter:
+dx = |
7 { =4 %x — 4- Y - ;2)( ‘2)‘
. DoHAx AT
y+2x=1 y = »gx,}.\

Y=5x"? 7

y+2x=—4
I+x=6

(975D -2 | (D= 2w (3) 26

1 T
[y

By I
]

§
i i

mine a solution.

y=-3x—-6
' {—2x+3y=15
=~ 3% - lo
‘)" 0T
/’\
RISE ~&

At KT
? SrART ng—E;% 1 g
gj}ﬁ:—\}_ A feun | ’f,k?“S
Gon 3. ov T-Iis, R
O
Rse-d o

V= g <
wecaBintersect 2 2 -1
ez : : -7

-2 Fa-Get |2+ 3:0
L

t Z 3 4 5 6 7 8

. _Intersectiox
B3 Y23




Each system of equation is shown in graph. How many solutions does each system have?

_ iFcre Nt
y=2+1 ' reecerr

E\)o SoLuTo™S
NCo o St et L ij

10 y=gp+1  dFFeRtNT

y=-2x+4 %

11, y=-2x+2 SAME  SWPE

y=-ix+2 SAME

FNE Seo LJTloiN
o NSISTENT \NDE?’B"W
‘ |(5\'~%)

Graph each system and use the graph to determine a solutlon

9,3y=2x—6
4x -6y =12

éi:: AR (e
2 3
A
V=3 %
N e T

RisE 2 “a oM
m ¢S

i A~

o
st
Y S A s
N -
| 5 T
T gt
INFINITE SOLquoMS

10. 4y -7 =2x+1
2y—-x=-—6

(ZY" el 3—-5

By = 57' Bse G

A ~ SRRV KT
-3 ow
-Aeis

NO SoLuTienS

_Z

EMPTY SETS

M. Winking Unit2 poge 12

Inkersection
1=1.878 ¢

Iv=1.78

E2x-3y203 «[TREA i epy=d

Y WTERCERT




Sec 2.4 ~ Solving 2 Variable

Name;

Each system of equation is shown in graph. Using the graph find the solutions to each of the systems.

Ly=ix+3
y=2x—12

2. v=x%-3
y=x-1

3. y=2v-12

y=x-1

- by G by

-1

D)

2 3 4 5 5 4 -3 2 -

((15) 60 ]

[(O,.ul) " (31@ }

Xy

Which of the system of equations below have a solution of (- 3, 2)?

y=2x+8
' {3x+2y = -5
(2> =2(-8)« &
2

& e & T

" z-5
x LD S

AT -

. {y:§x+4

6'{y+2x=—4

Ftx=6
cLA -2 | (Daaenyzd (B R 0356
=12 524-;&;_“ 24730

Graph each system and use th{: graph to determine a solution.
AX = - -
2x -2 _ {y=—3x—6 +§: + 3y igx
:1:_9)(}\ -2x+3y=15 3), =9x+55
‘ Yz -3x - (o S 5
7 sehet KT T .=
Rse-2 7, T Sher Jadcan %
SN oA RISE -3 oy }Cﬁtx,ﬁ 7 SCARAY
BR Boo T Risel 5 ow
RisE2 ol Row 3 Y-ARUsS
Row =l RISE >
| sx b TZON -1 N ﬂ g Pge -2
Y i 1 v 5 5[ Y o ——
supe  Y-NT . R‘m >
RUE :
_________ e

Protd ﬁougbﬂé”'L‘ o
SYsECL 2084
\WeB-2K+1

ez :
“Yy="8375t andard

Y=

Weitslintersect 3 7 7

i 2 3 4 5 6 7 48

\

e — \\i
. E_Inttrsecﬁﬁn
i ] =2




Each system of equation is shown in graph. How many solutions does each system have?

9. y=1x—2 SAME SLPE 10, y=ix+1  pepeeenm 11, y=-dx+2 SAME SLTPE
y=ly41 VIFECENT y=—2xr4 % y= lx4z SAME YowTegeEeT
.’, 3

YL NTEECEPT

No SeoLuTiens ¢ EGN"EE SeluTioi INFIWNITE  Seudmla ™S
mCmvSa =,-r ﬁrd't") oy o S ISTENT \NDE?ENW db Qw \STERT Dgpcv,do@rr
SET (t 3\1 o -
Graph each system and use the graph to determine a solutlen z Y =R 23
9. 3y=2x—6 10. 4y—7=2x+1 11. 2x=y+2
4x — 6y = 12 2y —x = —0 y=-2x+9
By = dx- le Uy - 7 = e
3 e} [ . AR
7::'._ -?:-X—-;l "ﬂ = M
» L a
{
sther KT IR RVERS 1
Risg 2 -2 on / /"rgl A
a2 Rup
FENES Y_ARS gt 2
= - (o
Qy-oy = | &~ 2AY = X =
- q); LA Y 5 X +X

NO SoLygTien S ONE S JTioN

U5 B

- EMPIY SETS
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Sec 27 Systems of Inequalities

Name:

1. Graph the following inequalities:

R ou oA S p ?2 "\ stmer AT Y4 o T-AYS
Fletl Plotz Flot? I9¢ -

'1’1 B(I-42H-~2

Wgz 7 fun |
sYg= . ‘-
i, ' Zoe ;\5 _‘l \

fise S
o fod
= O/ — . B
QI,JSE_ R :
-4

J\

&
T
&
- &

-4
C 2

R S L

5 7 -6 -F 4 -3 -2 A 87854321

WiE -2
~Wewll

~Yi=

sy=

“Ne= :
N g

M= :

4 SMRL‘L . ’ CAU NU SIS R SV S s;{nLt

d. 3x—8< =2y weE WE DWIDED
-2 -2 —% %rm GADES b‘fA
NEGATWVE, WE NEBD

TO FLip THE INFQUAWTY,

¢ 3y+49x>3x— 12 & FAET F

N -

- VI4 L
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2. Graph the following inequalities:

a. y=3 Pl Plotz Flotd
w1 B3
. V= b

b.x > -5

“My=

~Yy=

~Mg=

E@ “Mg=

o N E=
: 6 .....

IBEERIEANI
SV LL
3. Graph the following systems inequalities:
a. y>-1—x—4-€='- Swer AT
.

-4 am’s&x*%g €
ise
12 43 £t

8¢

Ri&€ =

'Rx-l-%?..y m
A W S
Ow 1-AYLIS

Flotl Fiot2 Fret3

M. Winking

— 3G

f 2 2 4 5

N

b.3y4+2x <6

3y +dx Lt

2w "
3y <o
g <

)’f'“%xua-ﬁm
ro T
Risk-2 gy A
RNz & oM Ty

K$E 2
fup -3

Unit2 page ]

R e
o IR 243342
WeE-2

Y=
sys
sMe=
1 WE=

“Yo=




sIF Yb 15 an “Anp" SEEMENT
THE o THE ANSWEEZ 3Sdoud
6R AN EMPTY GEATH.

Sreer AT 4 oW

4. Graph the following systems inequalities:
e -4
a. y>%x—4'§"'3‘:§fﬁaagm b. yz—2x+4

) RISE | -~ oR-—
ys-gx+'% [N y < —2x—2

7 s
bl W2 BL6

LN S R W T ]

Y-AY | S
Risg £

| N
RI1sE -2
Beny | Ok “gud =1

¥ r-;-..____“

® @

‘ H
KW

- - ‘...-_,_., — .

iy

s

1.6

; -§
: 8
'.*ST"

SMALL

_8|

RGhAs

W
5. Mary works at two part-time jobs. The first job at Bull's Eve pays $12 per hour and her second
job at CSV pays $10 per hour. She must earn at least $360 a week to pay her bills.

a. Write an inequality that shows
how much she could work at
each job to earn at least $360 per
week. Let ‘%’ be the humber of

s lg 14 8
N

hours she works at Bull's Eye
and 'y’ be the number of hours

she works at CSV.

2% + 10y = 0

oy 2 -1y + 3P
-] | o

y2 '-‘g’-x+%(-

b. Write base inequalities

suggesting that she must work
zero hours or more at each job.

Xzo yeo T g

c. Graph the system of inequalities
to show the possible number of

hours she could work at eachjob. ™} 2 4 6 8 10 12 14 16 5 20 22 24 26 28 &0 (2

M Winking Unit2 page22

34 36 38

>

40




6. Marco is the activities director at the local boys club. He needs to purchase new sports
equipment, and he would like to purchase new basketballs and new soccer balls. He has $450 in
his equipment budget and he would like to buy at least 15 balls. Soccer balls are $15 each and
basketballs are $30 each.

BIG

a. Write an inequality that shows
he can’t spend more than $450.
Let ¥’ represent the number of
basketballs and 'y’ represent the
number of soccer balls

NY P W
Lae + lSy £ 450

N THE  BeunpED
. Regon s A
~ VAUb  sawhioN

b. Write an equation that shows he
needs at least 15 balls.

wEY 215

c. Write base inequalities

Ko Y >0

.........

18 20 22 24 26 28 30

d. Graph the system of inequalities SM%’ Lt

KisE -2 STheT - |5 oM
T A RN fAg

M. Winking Unit2 page 23
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Sec 2,9 - Functions
_Building Linear £ Exponential Functions

1. Write an equation to describe each linear function graphed below.

4
E)
&
st
4

X

1 2 % 45 6 7 & 87 6.5 43 -F-d

T T
R R L M

Name;
C 4¥
8
gix) AN K
: L
i v 3 .
b
6 -5 4 3 -2 1

-
L A

do Yy ol bW L e
B - R

-

%x + 2 } {h(x);-%“?( + {0 } {@(ﬁf)r 4 }

2. Write an equation to describe each linear function graphed below.

A. The linear function, f{x}, has a slope
of ¥4 and a y-intercept of 4.

Y = Mx b
FOO) = mx+ b
Pl 5 X +4

|
[f(x)~ -57(3(‘—\ J

C. The linear function, A{x}), passes
through the points (2, 4) and (6, 2).

XY, KV
M-P a4 2 e
..---"'"“ et = p

X‘L Xl

/________(1,9;—//

%('ﬂ:::"“LX A’b .

oz
Tegr (2 T FuD b

(H)= -5 tb
[h(XJ‘ X A S }

L‘t-::a “‘"\'\'\Q
A+
A WA B

5-b

B. The linear function, g{x), passes through
the point (3,1) and has a slope of 4.6~ M=

5()():6‘/\K—¥b

SQ{): Yy XD
TEST (319 To Fnd b’

9_./5
| = Al

-1zh

(5= 55 [m: .
| = ;l. Yo

D. The linear function, p(x), is parallel to the function
t(x) = 2x + 2 and passes through the point (8, 1).

M= 5

]

P(<)= 5 %+

TEST (B,f) To FIND Mo

___L_: A %"b E’(x)zé‘l% ‘_] ]
-l = b




3. Write an equation to describe each linear function graphed below.
A. Determine an equation that describes d(x) based B, Determine an equation
on the parﬂfal sdoﬁ‘(a /@ss in the table below. that describes m{x),
7 Lare ofF given that m{x), is
CunpGE 15 parallel to f{x) {shown in _ o
toncranT St the graph at the right} and l P
T8 LiNnEAE itpasses throughthe 5 <+ 3 -2 12 3 ¢ s
point (3, -2). o e A I
Test (2,2) | | fse, L 2
m= o o | IM= 3 SO
F-J : : 47
- = *{’b st
2= oth Y= Mx B
2 - + 41
b y_: "'1" X ""b —_ -
v 3 st/ L= b
b
\ TEST (3,-2) T FrO \
Ld(x)ziﬂ-“; RN L
~2) - = A
(%)
4. Consider the exponential function, f(x) = 2%, —4c - I +b
A. Fill in the missing values in the table below. B. Plot the points from the table and sketch a graph
Label any asymptotes. Y
x Sx) . A
— 3 8 $(3>52 C A28
o .
— o [ Flo)=3 =
~ -
— o |+ fray=2*=H
— 12 s
) _ P | 343 2
o fos P EEgeg
— -3 0.5 \ -
g'\('ﬂzé.?_}:ég'—*g al
{

5. Consider the exponential function, g(x) = 3* — 2.

R
A. Fill in the missing values in the table below. AVA Pﬂ.ﬂE B.

Plot the points from the table and sketch a graph

x | e Je-r  ldmesme g
—> 2 | 7 Fl2):¥-a2=92:7
— 3 | 25 fR)=3-2" mw 96
— 1 F(1)= 3 -2E
—> 0 -1 Ple)y=B -27 1 == R
iy =1 G P (—\)f§’\*9’5 "g“?:'% 3 4 5., )
7 oA “{'\{'5):%'; -2 :é}"‘z‘;"i | C et ;Yﬂ
g3 53, AUNCES N St S iy
-1,962962963 27 a1 et 2z 2'7




6. For each of the functions, determine the asymptote and sketch a graph (label the points when x = 0 and when x = 1.

1
A flx)=4"—-4 - 08Y, Y=-4 B. g(x) = (1) + 1&= h‘ﬁlﬂfﬁf Ch(x)=2-3*—3 & Asy Y:;:"S

a - ! 7-' - ' ﬂ'_ ¥ -
}eY=y®-4  F(): o ;4 o)) ¥ atyefy) hto)__i 530 ks
= l - - - - - : ' -— -
=~ Zq 4F =0 ~ 1 +l=21u~‘ = ‘.:..-H.I_S S 2821 4y =%
! . o
3"7 ‘ ‘ . ) ’ i . : : Flokl Plotz Flotz .j. cjln
.\ T t-,l-S) L EeEtReS a4 .
= y=i : ----’3 N :
L 1 -'[I;D\S" | . &.........,...... . . ‘. :f SEEE 1 B P
5 4 3 2 23 4 5 5 4 5 2 jgé&é_'»'i-}-}-'z-} 123 4 5
oah A ! i i _¥t ~Yes : 1 SR : :
FooN N ~ gt el : =8
- e (a’wg) :,_q -7 :3:: i !é - — -<- -, v}‘-l- _V.-- —u_.,a
e . ._,Y____.) _ 4 :E,g: S T :
7. Create two different exponential functions of the form f(x) = a * b* + ¢ that have a horizontal asymptote at y = 2.
4 X
£y 43”2 3(»:); | (') + -
8. Given the function f(x) is of the form f(x) = a-b* + ¢ , has a horizontal asymptote at y = 2, and passes
through the point (0,5), create a possible function for f(x). S = O+ Q_
Fix)z *r2 TEST (2, %) . -2
x)z0-b EST (0%) e
K - o ag '? X|» gg— *
t)za2v2 | S5:=02+2
9. Tell which functions below could represent exponential growth or expopential decay.
N | eewaraL
;1 D‘Ec.k'f

ys 45 5 43

L_gfAsymptote: y=in 2.

M
Asgmp_rore' y=-3

(= {
aY ¥
s 1|2 |314:s 2 4| s
13 65{3311719| 5 3 |7(19]55]163
e L . TN (J R S N S
7 2 o -31 ~\e -9 -4 0 2 Fe mE
ComSTANT RATE EXPoNENTIAL DECAY EXPoNENTIRL (5RepSTH
i) = K2 k(x) = 192 - (0.5)* +8 m(x) =3+ (15)* + 2 Ee<trie__
EXPINENTIAL  pheamere BRWENTIAL Lo eveg LINEAR,
L‘NE*& 9EQA.( 1y BETWEEN ez owtH 1S gREATER

i L1 THAN |
"10, In a science experiment, a student is measuring the height of a plant each week. The student began the project,

onweek ( with the plant already 4 inches tall. The student determined that the plant would increase in height
by 2086 each week (for the first 10 weeks). Create an exponential function of the form f(t) = a - b® that
describes the height of the plant as a function pf. £, where ¢ is the number of weeks after the project began,

Pl =\ '(l.ﬁ.)..if)t




DLANT TRAT SThEED At S inckes 2 (Re~ BY
Yol EhcH WEEK

=5 Ga




Sec 2.10 -~ Functions

) D d ,M AN Domain and Range

QAN\\GE ,t( Name;

1. What is the domain and range of the function described by the set of points: {(3,5), (2,6), (ﬁ 5,3)(“ 7,1), (2,6)}

Demhn: f -7, -5, 3,5 %
RanceE: 51, 2,5, 63

2. Given f(x) = 4 +6andits domain is 3. Given f(x) = 2x — 1and its range is described
: by the set {5,~3,1,9} what is the domain?

described by the set {6,—-8,4, 2} whal is the

-l:-3 | -z x-l =,
il |

range?r(cc)-_. "E_Lf@)*'('-;?’*b: ﬁ QX-I'S

Plg) = 508+ =-4r=2 | 3

4:(41.-(434-@ Ar6= 8

F(a) = '(aB*C'“""'7
RANGE : § 2,7,8,9%

¥

*
x =l
2

¥=3

x pi¥

\
o= 2. =
£ % Zz 2: £
-1 Xzl =S

Do § -1, 1, 3;§§

4, Describe the domain and range and label the x and y - intercepts on the graphs of the followmg graphed functions:

e 5

st oy e
b L b
: : symplote: p= 1 x® :
4 3 20 | 4 2 3 4 5 543 2
e B ;
: h : : . (-2 . Rt : Y-
DR R S & ‘ - 4 .
Aé " “"—‘———" Ev;i;“j__..__,—;———”—"% { Bi';‘ﬂ‘h, Bemsy -3 ) [ Somsing
LEFTE._) Domain: ALt REALS () & 3ETANAT fyopainAis KTALS {m) b Domain: % €*% 8% X2 © "_sa roTio N
RaGHT - oa, BO) ¢ INTRRIAENGT, (-po, am) & WTERGAL | ey ) U En‘wa
DowN 3 Range: Y 2-3 &— $€T Narhilan Range: & B |\ «— SET Range: ¥ & & & st1 nowtie
g P 3,00 &— NTERUAL NiT, (1 00 4 wTERVAL | (=0m, 37 & wWTesk N
) E %Asp.s.ﬂpléfe.-;:'.?;.
5 ; 54 3 2
4 b
& DaMN » -9 Dot &— DomAin
LEP:;,;‘}" Domain: fut REALS (MR Domain:} 2 = 2 E'Qiﬁﬂj Domain: X €5 8o X753
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Determine which of the following variables are DISCRETE and which are CONTINUOUS.

Sa. circle one;

a. The variable x represents the number of friends a person has on their Facebook account. Lo
"'"é" & . o & - B F @a CONTINUOQUS
b. The variable x represents the nymberof questions a student missed on a test. Sh_gircle one: )
2 & & & b—=a ’ DISCRE CONTINUOUS
0 ! 2 Y J—
¢. The variable x represents the amount of time it takes a student to complete the test. e circleone: e
o l z 3 H s ) s e , G
d. The variable x represents the height of a student. 3d. circle one:
o ¢+ r 3 4 5
e. The variable x represents the value of the money each student has with them in class.
["‘\('___'_? & & & S—ip p
0 ast 2e¢ 176 1Bk 294 Yé
f Thevariable x represents the weight of a package sent at the post office.
L vy | " passguant
g. The variable x represents the nujpberaf packages delivered ata post office on a given day. e.' —
p———b—— G f (UPCRELY CON
6. Describe the domain and range of each function below as DISCRETE or CONTINUOUS
v 'S4 \
By : e . T O® s
e e e IR . oe o
R oo . D R N X ; : S R
5 4 -3 2 -1 Yz d 4 &5 6 4 -3 -2 -1 T 2 3 4 & § 4 3 2 1 1T 2 3 4 5
b gt ™ s EEETE L S AR : - : ‘ _14 .
i - 2b :,__2_ : : 2
.-  _3¢ [ EI] SR
; | _4 L 3 o_. L g “ ‘
Domain: D|§CRETE Domain: (apNTINVOW $ Domain: (14 )50 \p Iy @0 §
Range: D4 eRETE Range: QGNTlN yous Range: D\SQRETE
7. Find the x and y -intercepts of the following functions.
A flx)= %x+6 B. glx)= 3*-9 2 4 6 10 % 1
. ’ . -l =g - 6 5 4 3 )
X-Nr ("f =°\ Y- NT(X “Q x INT cY é)- V m-cx‘) assume h(x) is confinuous and has a domain of all real numbers

1:Eo]=[‘-,x+-t3ﬁ1 Flo)z sa vt

0= X+1&

g s 0@

(o):.'so"’
3 (o) = \ -9

X-inT (y=0)
(MI'\

Y-ivr (x=0)

h[o)-"?

=13~

-‘_L

-1% =X

=G

(x-intercept: - m y-intercept: fp ﬁ [X-intercept: ﬂ. y-intercept: = BE \

(=) =8

[x-intercept:]h‘- y-intercept: 7 E




8. A postal company delivers packages based on their weight but will not ship anything over
50 pounds. The company charges $0.50 per pound to deliver the package anywhere in the
United States. If we consider this situation a function where the number of pounds, X, is the
independent variable and the costin dollars, y, is the dependent variable determine the
domain and range.

Demain: Q < ¥ é So ‘El
£(x)-

= 0.50 X
M — £(o) = 0.50(0) e Q&Y £dS pmes
MBR —ely .P(gg\ = 0.%0 (§@) A5 .0 T Toeeas e ukeceseUoE R e T

SNCE VT WP Faggapiy BE RaunDED T
9. Alimousine company rents their limousine by the hour. The company charges $85
per hour. The minimum time is 2 hours and a maximum of 12 hours. If we consider
this situation a function where the number of hours x, js the independent variable
and the cost in dollars of renting the limousine, y, is the dependent variable
determine the domain and range.

g(x) = 85x Domain: ) 2% £ 1,
3 = =\"lo
Min > F(8) = BS () =) e |70 & £ 1040 -

MA‘F - P(] ?“) = 850@) = {oge # THE AMounT e dhRGED LiaucD BE

ETE
\NGE VT WeuiD Vaupamy BE Reunines T w.e NEARTET SENT.
i 10. A student is growing a bean plant outside for a science project. The plants grow for 12 weeks

before reaching their maximum height. The student consider the week she started growing the
plant to be week 0 and then realized that the plant closely followed the function model

h(x) = 1.5-(1.2)*, wherex represents the number of weeks grown and h(x) represents the
height of the plant in incheE TSTig the function model describe the appropriate domain and range.

hly\ \ S (tg‘\ Domain: &3 ﬁ?‘ &-’19*-
O R B L FNPUIVDR

max—>W(a) = 1S ('

11. Avending company realized a relationship between the number of people present at the stadium during a
Braves game and the number of hot dogs they sold. The minimum attendance due
to players and support staff is 361 people and the maximum people that could be at
the stadium is 86,436 people. The relationship that describes the number of hot
dogs sold very cloeely followed the function model h(x) = 15-+vx wherex.

re; : erofbpeople at the stadium and h{x) represents the number of
hot dogs soEd What is the domain and range of the model?

h CX) lG' J 4 Domain: 36[ ﬁ. ¥ 5 B&‘{S[' m

MIN — B (2 = 1S T30 =885 |
Range: asse é."_ qg“n

My — h (86450 = 15 BaA%e = Y410 Y

12. An author is selling autographed copies of his book at a stand in a bookstore in the mall and
charging $12 per copy. The author brought a total of 40 books with him to sell at his stand.
If the function p({x) = 12x represents the gross profit the author could make during the
time he is sitting at the stand, determine the appropriate demain and range.

Domain OO) © 4 of BoskS souD  RANGECY): MONEY MADE
?(ﬁ) \1)& Domain: ¢y & ot &I_{'Q

?C@\ - IQ(Q) o Range: ) {: Y ‘_—_ Ll. 8o
MM‘( cha) = mf%ﬁ LIS"-’ W TRE AMOUNT ¢ 4hRGED woulh BE

GNCE 1T WOULD Paegapty B ReunDED To THE NEAREST e
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Sy alf Sec 2.10 ~ Functions N

D O M AN Domain and Range QQN GE t Name:
1. What is the domain and range of the function described by the set of points: {(3,5), (2,6), (— 5,3)(— 7,1), (2,6)}
Daiking: E_ ”7; ”Sf g‘!%g

RaneE: §1, 3,6, 63

2. Given f(x) = %x+6anditg domain is 3. Given f(x) = 2x — 1and its range is described
described by the set {6,-8,4,2} what is the by the set {5,-3,1,9} what s the domain?
range? { 2)‘-'7-5 Qx-lf--%w 3x-|=1 Qx-lf-
g':(&)-'- ‘5_Lb)*‘"'=5*‘°='q £ ¥1 AILAS + wl A\
TR = A =8| Ax = 2' 2x = \o
Blg) = (B =-temd | Bx =L 5 TE) F U7 T E
-l 2 =
HOE —M*fa A6 * % x=3 | X Xz
= L(a)rl = iveF
P =50 DomAw: §-1,1, 3,53

EAWGE : § 2,7, 8,91

4. Describe the domain and range and label the xand y - intercepts on the graphs of the followmg graphed functions:

F 33
A B.{ . : C.
: hfx]
- » L s
g { i - e i 3
: : ; : x i symplote: y=1 x
5 A % % £ 5 S 4 2 -2 - I 23 2 5
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= B e 00 MAIA] — e}

LEET 4 Y Domain: Al REALS  (R) Domain:X 2-2 | [-2,09) ) (Domain: X&'5 ea X237 x4 3
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5. Determine which of the following variables are DISCRETE and which are CONTINUOUS.

™

a. The variable x represents the number of friends a person has on their Facebook account, o girdle ane:
o

——o——8— 8
e + 2 3 4 s
b. The variable x represents the nymberof questions a student missed on a test.
& 1 ———Pp
. i X 4

c. The variable x represents the amount of time it takes a student to complete the test.

6 1 2 3 Y s _
d. The variable x represents the height of a student. {5d. circle one:
6. ¢+ ¥ 3 H s

e. The variable x represents the value of the money each student has with them in class.

. S
N TR R T TR YRV

f. The variablex represents the welght ofa package sentat the post offlce

, assfucion z- 3 . s
g.
6.
p ¥ A ¥
. =
PR = Fa R
o o
¢ 9 e »
5:4-5;?21 3‘#‘34‘5_.; 5 -4 .3 2345§
‘ ........ . -3p Lo B
' 4 4 0'." 40..
" T L i 1 e : ‘ s L
Domain: D!SCRE‘TE Domain: {gNTINV QW § Domain: CGHT!NUW’ 3
Range: D¢ eRETE Range: LONTINVOUS Range: )| QeRETE

7. Find the x and y -intercepts of the following functions.

A f()= x+6 \ B. g(x) = 3* -9 C. 7] a | s | 8] 10 is?™
- - = <] 5 4 2 2 1
X‘- INT (V =°\ - INT (X =°) x’ INT fY-Q)_ \’ Ihrr(xﬁ assume h(x) is continuous and has a domain of all real nuE!Jers

g_i'to:.['-xkbjil -F(ﬂ’:li_["*“ o:sw-q 3(:;)'30"7 X=-wT (ya0) YNy (e 20)
(k12 Fgeore | I g2 (14,9) hieT

ST S O R 3‘*”‘"

[x—intercept: - W. y-intercept: (D } [x-intercept: Q. y-intercept: = B E [x-intercept:lq. y-intercept: 7 E




8. A postal company delivers packages based on their weight but will not ship anything over
50 pounds. The company charges $0.50 per pound to deliver the package anywhere in the
United States. If we consider this situation a function where the number of pounds, x, is the

independent variable and the cost in dollars, y, is the dependent variable determine the
domain and range.

Demain: Q< }{ é SQ Q
(%)=

0.50 %
M v “?F(Q) o oso(a) Range: Oé y é__ QS &_
M) oy 'P('j’t’» = 0.%0 (§0) 25 © ¥ THE BMOVNT  CHARGED weuch M‘SC ETE

SNCE IT WHLD SREABLY BE ReunbED T8 TE NEMEST chNT.
9. Alimousine company rents their limousine by the hour. The company charges $85 '

per hour. The minimum time is 2 hours and a maximum of 12 hours. If we consider
this situation a function where the number of hours, the independent variable
and the cost in dollars of renting the limousine V. is the dependent variable
determine the domain and range.

_'F‘;Cx) - BSX F—l Domain: a -3 ¥ & l&
‘ - = o
Ming 2 (g) 85(13 \ Range: iqo.ﬁ_:y f:\oao

Mag >P(s) = 8S(0) = togo T T

WWEE 1T WOULE TaspamLy BE FounDED To TWE NEARTYT cBNT.
i 10. A student is growing a bean plant outside for a science project. The plants grow for 12 weeks

before reaching their maximum height. The student consider the week she started growing the
plant to be week 0 and then realized that the plant closely followed the function model

h{x}) = 15-(1.2)% where x represents the number of weeks grown and h(x) represents the
height of the piant in inches. Using the function model describe the appropriate domain and range.

hl \S“Q-.’ Domain: €3 & % & |5
Mm}.-_;\qfﬂi .S (1Y =

max—= W) = 1S (N’

11. Avending company realized a relationship between the number of people present at the stadium during a
! Braves game and the number of hot dogs they sold. The minimum attendance due
to players and support staff is 361 people and the maximum people that could be at
the stadium is 86,436 people. The relationship that describes the number of hot

dogs sold Very closely followed the function model h(x) = 15-vx wherex.

Range: \S f-_ Y & \'55'7

i hot dogs soldWhat omm and range of the model?

h (X) ls- J ¥ Domain; g@[ £ X4 BLY36
MiN — | (36) = 15 (%0 = 8BS s 9854y & Hio
Max — h(Bo4se) = 15 JBuzl = 4410

12. An author is selling autographed copies of his book at a stand in a bookstore in the mall and
charging $12 per copy. The author brought a total of 40 books with him to sell at his stand.

If the function p(x) = 12x represents the gross profit the author could make during the
time he is sitting at the stand, determine the appropriate domain and range,

Doman () © #5 ofF BoskS SeLD  RANGECY). MoNEY MADE
Pl = 12 i X O
o PLo) #1aleI =0 " oty ¢qge
AR TIECL S kel Sk Sl
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